	Item
	U2IP

	1)
	Probabilities can be used to increase the opportunities in hiring more satisfied employees by looking into several factors such as the tenure of the current employees.  Are there any factors that can lead to the explanation of our current level of satisfaction?  Could it be a particular department, age group, gender or tenure?  But we must remember that we could inadvertently violate or be guilty of discrimination if we use any biased information for the purpose of hiring.

	2)
	In business, probabilities are used for measuring the occurrence of an event.  This process with overall statistics can help businesses make better decisions.  Probabilities can be used in many ways such as The General Law of Addition, which is used when two or more events will happen at the same time and the events are not mutually exclusive.  Special Law of Addition, which is used when two or more events will happen at the same time, and the events are mutually exclusive.  The General Law of Multiplication, which is used when two or more events will happen at the same time, and the events are dependent, then the general rule of multiplicative law is used to find the joint probability.  Multiplicative Law, which is used when two or more events will happen at the same time and the events are independent, is a special rule used to find the joint probability.  Conditional Probability Law is based on knowledge of one of the variables. (Homeubalt 2006) 
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	I a)
	168/288=58.33% is the female distribution 

120/288=41.67% is the male distribution 

	I b)
	From the 288 Data Points, the tenure distribution points for male for the following tenure segments is: 79 Males stayed for less than 2 years.  26 males stayed for 2 to 5 years and 15 males stayed for more than 5 years.  91 females stayed for less than 2 years, 42 females stayed for 2 to 5 years and 35 females stayed for more than 5 years.
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	I c)
	From the 288 Data Points, the percentages from each department are: Department 1. Human Resources 11/288=3.8% Department 2. Information Technology 100/288=34.7% Department 3. Administration 177/288=61.5%

	I d)
	From the 288 Data Points, the mean overall satisfaction by gender is:

Overall satisfaction by gender

Gender

Mean

Male

4.430833

Female

4.301786



	II a - 1)
	From the 288 Data Points, we can determine that there are 288 people with 168 of them being female, so the probability of a female being picked at random would be 168/288=58.00%.

	II a - 2)
	From the 288 Data Points, we can determine that there are 288 people with 193 of them being between ages 22 and 49.  So the probability of a person being picked between the ages of 22 and 49 would be 193/288=67%.

	II a - 3)
	From the 288 Data Points, we can determine that there are 288 people with 172 of them a overall job satisfaction of 4.7 or lower. So the probability of a person having a overall job satisfaction of 4.7 or lower is 172/288=59.72%.

	II b - 1) 
	From the 288 Data Points, we can determine that there are 288 people with 20 people who are male in the IT department.   So the probability of a person being male and from the IT department is 20/288=6.94%.

	II b - 2)
	From the 288 Data Points, we can determine that there are 288 people with 48 people who are hourly employees with intrinsic satisfaction of 6 or more. So the probability of this person being an hourly employee with intrinsic satisfaction of 6 or more is 48/288=16.67%.

	II c)
	The correlation between age and tenure is 0.0013 using the Correlation of Coefficient but there is not enough information produced from this data to tell us if age has anything to do with tenure.  This number produced is almost zero.

	III)
	From:  @imbd.com 

To:  
The head of American Intellectual Union  @AIUbusiness.com

Cc:

Subject: Probabilities


There are several factors that we must take into consideration as to the study of creating procedures to help increase the probabilities of hiring more satisfied employees.  First, we determined that the dataset would include 288 people with a cross section looking into Gender, Age, Department, Position, Tenure, extrinsic, intrinsic and overall job satisfaction.  We will break it down by department starting with:  

· Human Resources having 3.8%, 

· Information Technology having 34.7% 

· Administration having 61.5 %.  

The mean satisfaction by gender is: 

· Male 4.430833 

· Female 4.301786.  

· The probability of selecting a female at random was calculated to be 58.00%. 

· The probability of a person between the ages of 22 and 49 being picked would be 67%. 

·  The probability of a person having an overall job satisfaction of 4.7 or lower is 59.72%.

· The probability of a person being male and from the IT department is 6.94%

· The probability of a person being an hourly employee with intrinsic satisfaction of 6 or more is 16.67%

The correlation between age and tenure is 0.0013 using the Correlation of Coefficient, but there is not enough information produced from this data to tell us if age has anything to do with tenure. This number produced is almost zero. So we will continue to research the data to try to identify any commonalities. 

Thank you 



	IV)
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